*o @ /% BIYE R (FL00I/NIN) RHBHY 'Hd ¢
ROXigs @ 4 ¥EVLISEAmEHE @ X 7
YRHEHHFHE @ W]

Xywey @ u RYH®T (£#)
£ | 2 €s |2 €9 2 1 |2 L8 (98-209-6¢€)
¥ 01| / ~ / ~ 86 / ~ / ~ |l | 0
Zv 4 1g Z g 0 9'8 15 S8 | d| 801-1S (2) e
LS 2 LS |2 LS ? 21 |2 8'8 (8$-209-6¢2)
Sy 001 / ~ / ~ 01 / ~ / ~ u o |R| 0
Sy ? 2°¢ 2 7€ 0 88 2 ] #| 4] L0T1-131S (2) $¥m%
8¢ 9 6y |9 6% 9 |9 88 (20-209-68)
ye |L99| / ~ / ~ 06 / ~ / ~ L AR CTR !
S'g 4 $°2 i4 §2 0 2°L e 0°8 #{ g 901-13S (2) Rys
79 2 v |2 79 2 12 06 (¥5-209-68)
9% |0°0S| / ~ / ~ 01 / ~ J/ ~ T oolm| oo
9y I 82 I 82 0 88 4 S8 #| g S0T1-131S (2) §ope
9°¢g 9 v |9 'y 9 L6 |9 S8 (10-209-68)
1'e [0°0S] / ~ / ~ 08 / ~ / ~ L TR
28 £ 82 g 82 0 g9 g L'l #{ 4| ¥01-131S (2) qope
£°¢ ? e |2 g'e 2 8L |2 78 (89-209-6¢)
1'e [0°08] / ~ / ~ gL / ~ / ~-|w  o|®}| o
1'¢ I 82 I 82 0 89 I €8 #| 4] €01-18 (2) e
0y 2 0y |2 0% 2 66 |2 L8 (29-209-6¢)
8¢ 001 | ~ / ~ 16 / ~ / ~ LI TR
8¢ 2 S 2 S 0 €8 2 7’8 | 4| 201-131S (2) g%
6°9 4 6 |32 6'S ? 1 |2 0°6 (15-209-6¢€)
Sy 01| / ~ / ~ L6 / ~ / ~ LIV TR
Sy 2 I 4 I'g 0 78 I £'8 H| g I101-138S (2) Ry
81 A 81 |2 81 2 08 |2 28 (19-019-68) ,
L1 00| / ~ / ~ 9°L / ~ / ~ U@k
L1 0 9°1 0 91 I ) 0 08 Y Z21-1S YW ZE
91 |2 91 |2 9°1 2 18 |2 78 (09-019-6¢)
S'1 00| / ~ / ~ 8L / ~ / ~ oo j@| ¥
G 0 g1 0 gl 0 5L 0 0°8 |V I1-LS o3y £
L1 i LTy L1 14 28 |¥ £'8 (10-019-6¢8)
L1 00| ~ ~ / ~ 6L / ~ / ~ o o(m| ¥
91 0 21 0 21 0 974 0 28 EAR 1-18S W Z
6°1 4 81 |2 61 4 28 |2 28 (€5-019-68)
8l 00| / ~ / ~ 18 / ~ / ~ o0 E| oy ]
81 0 91 0 91 0 64 0 28 F|V 7-18 WEMZ
¥l 2 y1o|g vl 4 8L |2 28 (15-019-6¢€)
vl 00| / ~ / ~ 8L / ~ / ~ 0@ ok
. ¥l 0 7l 0 vl 0 8L 0 2'8 EZA 2-1%S WA
u X ¥ | B & |U ¥ ¥ | B%S £ X % u ¥ ¥ |u ¥ ® & E
&= | / ~ (20 / ~ B¥d | % | S ~ u Y ¥ | & & | / ~ / ~ 0 | (&8—Bym) (B£%([nt)
w |\ ¥ SS) w |\ ¥ B oA X |\ ¥ / ~ w| s ¥ wo\s X x|
woNr H =4
B & « H H i g Z Y W Z ¥ X
¥ ¥ B 4 X (848) S S o a H d [
(a o 9) a o g ¥ oK B

W
(£ ) B B ¥ @& A F 2 % W K Y W ¥ A X ME X W K H ¥ T




ﬁP%ws s R @U0I/NIN) RHBEHY HI ¢

ﬁmw_ﬁé BEOALNSEIREESE : X 2
BHEH RYNeYRYuRHE - W T (28
204371 0°2 9 22 |9 22 9 o1 |9 g8 (20-809-6€)
10+30 4 ~ 81 |Lot| s ~ / ~ es | S ~ / ~ o ol@m| ¢
: 00+30 "0 81 R 1] 91 1| o 0ol 28 H|y Z2-1S | MBUHAT H
vl ¥ LTy L1 v 08 | g8 (10-809-68)
v1 | ool ~ / ~ 8L | / ~ / ~ ju o|m| s
g1 o g1 o| g1 0| 9L 0] 18 | 1-1S | BMYEHHFh
R v\ 81 v\ 81 - w\ | 98 «\ A2 P al s (10-509-6€)
. 1 ol g1 o g1 o| 8L o| 62 |V ¥-18 P17
00+30 2 12 9 6¢ |9 6°¢ 9 or |9 28 (80-709-6€)
10-3L°9 ~ 61 |Lot| / ~ / ~ ve | S ~ / ~ v o|ml| ¥ gt
00+30 "0 22 1l 91 1191 ol 69 of o8 % €-1S | YEQURNE
_ 22 H 22 |2 27 2 08 |2 28 (95-709-68)
0z | 00| ~ / ~ 'L |/ ~ / ~ Ju olm| » &t
02 o L1 o| L1 o oL ol 28 | € 01-1S | ¥ENWHRmY
00+30 ¥ 02 9 s2 |9 52 9 K g8 (20-709-68)
00+3¢ ' ~ 81 | 00] / ~ / ~ 98 | / ~ / ~ |u A &
00+30 0 8l ol g1 ol e ol ¥ o| o8 | 4 Z-1S | HENNRUE
10+36 "L b2 9 82 |9 82 9 16 |9 28 (10-709-68)
10+36 € ~ 22 | ool ~ / ~ g8 | / ~ / ~ |u ||y &
00+35 ¥ 27 o 91 ol 971 ol ¥ ol 6L % | g 1-1S | ¥ENURYE
£0+30 "4 12 9 67 |9 6y 9 2t |9 88 1 (20-109-6€)
£0+3G "1 ~ 97 |es8| / ~ / ~ 06 | S ~ / ~ |u w oy
10+38 L 12 s| 21 s| 21 1l 0L vl 08 Hl v #11-18S () ROFE
£0+36 7 87 9 €y |9 gy L 721 |9 88 (10-109-6¢)
£0+31 "1 ~ 87 |ees| / ~ / ~ 88 | / ~ / ~ |uw || o
10+38 "L L2 s s1 s| et o1 vl 18 #| V| g11-18 (&) SB5E
gg z ge |2 £°¢ 2 8'6 |2 58 (85-209-6€)
67 |0703| / ~ /s ~ 68 | ~ / ~ |u B o
62 1| ¥ve 1| 72 6| 08 2| g8 #| 4| 211-1318 (2) gy
2°¢ 9 8y |9 8y e or |9 L8 (80-209-68)
0°¢ 0°08| ~ / ~ L8 / ~ / ~ u | o
1°g gl oz el oz 0] 1L v 08 Hlag 111-38 (72) fosE
Ly 2 Ly |2 Ly 2 n e 9°g (85-209-68)
1y | o01] / ~ / ~ 86 | ~ / ~ |u | o
'y 2] v z| v o| 88 2| 98 (4] orr-1s (2) RupE
6°¢ 3 8¢ |2 6°¢ z 56 |2 g (L5-209-68)
z2€ |oos| ~ / ~ 08 | S ~ / ~ |u W o _
7€ 1| w2 1| ve ol 8 2| v8 #| g 601-18 (2) R
X ¥ & | U Y ¥ Bl %S A X ¥ u ¥ ® | U X ¥ F73 &
& A ~ (0 / B % / ~ u ¥ ¥ G A / ~ / ~ ff | (E8—¥WyH) (& F N ut)
o W SS) Wi \v ¥ | & & X\ X \E —Zﬂ woN H w o\ X X x M
\|7
B & x B B w | B % W O % oM N
¥ 8% B 4 X (&) S S - (o] a H d B )
(@ 02 ao g ¥ e
18
(£ ) B B % & 2% F ¥ 2% ¥ g Y W ¥ N X g H X H Y H ¥ T



co @/ PTYE “2¥ % (FU0I/NI) RHEHY 'H

d ¢
XAy : £ WEHARNSEXREEHE © X T
X¥y¥e @ u BYRe YRHRFEEE - W T (%)
9°1 4 91 |2 9°1 2 88 |2 28 (59-809-6€)
ST 00| / ~ / ~ 28 / ~ / ~ LR TR
Sl 0 gl 0 g1 0 S°L 0 0°8 ERIR L1-131S | MBYHD T
0y 9 'y |9 1y 9 el |9 9'8 (£9-809-68)
82 |ee8| / ~ / ~ L8 / ~ / ~ uooo|@®|
0°e g 02 g 02 0 V'8 2 18 EZR S S1-1S | MBYHDHTFd
68 9 - 07 |9 0¥ ) 2l {9 98 (29-809-68)
82 001 | / ~ / ~ 96 / ~ / ~ 0|l
0'e 9 €2 9 €2 0 78 4 18 E R $1-1S | MBYEMHBTFH
2°¢ 9 ve |9 vE 9 86 |9 7’8 (19-809-6€)
ve |ee.| / ~ / ~ 28 / ~ / ~ LR T
92 q 0°2 S 0°2 2 29 1 18 4|V €1-1S | MBYHDTH
I 9 ¥ |9 7'e 9 76 |9 £°8 (09-809-6¢)
€2 {008 / ~ / ~ 6L / ~ / ~ T 0@
4 g 61 g 61 € 59 0 18 |V Z1-1S | MBYRDTFH
82 9 9'¢ {9 9°g 9 16 |9 78 (65-809-6¢2)
22 |0°08| ~ |/ ~ LL / ~ / ~ U ofE|
Ve g 81 g 8l 2 28 1 08 |V 11-1S | BBYHDTH
5% g 92 |9 92 9 76 |9 €8 (85-809-6¢)
LT o |eee| S ~ / ~ 28 / ~ / ~ o oo
61 2 g1 4 g1 [ 69 0 1°8 2 01-13S | MBYHHTH
12 9 g2 |9 82 9 96 |9 £°8 (L§-809-6¢€)
L1 |eee| / ~ / ~ 18 / ~ / ~ T
8l ? gl 4 gl I 69 0 08 =V 6-1S | MBYMBTh
9°1 i4 L'l |7 L1 ¥ 58 |¥ L8 (70-809-6€)
9°1 00| / ~ / ~ '8 / ~ / ~ oo E| )
9°1 0 g1 0 g1 [ gL I 0'8 &V ¥-1S | HBYHATFH
62 2 67 |2 62 2 68 |2 G'8 , (£5-809-68)
yeg |0°08| / ~ / ~ £ / ~ / ~ LR TR
v I 6°1 [ 61 0 L'l {4 78 V| LT11-31S |EBYEYTH
62 2 62 |2 62 4 26 |2 S8 (25-809-68)
92 001 | / ~ / ~ 98 / ~ / ~ u o ofE| ¥
92 Z g2 2 €2 0 6L 2 S8 F| V| 911-131S |®MRYKZTH
e 20+36 L gy Z gy ¢ (87 2 gl |2 88 (15-809-6¢)
0439 | ~ ve 001} ~ / ~ 11 / ~ /- ~ u oo|®| ¥
0 | 20+36 ¥ ve 2 §°2 ? 52 0 v'8 2 58 #| V| ST1-131S |MBYHYTH
9°1 ¥ 8’1 |¥ 81 ¥ g8 |¥ £'8 (80-809-6¢) .
91 0ol / ~ / ~ 8L / ~ / ~ LI T 2 i
Ll 0 91 0 9°1 I 1L 0 78 |V €-1S | HHYHDGTH
u Y ¥ | B & |U ¥ % | B%SL £ Y ¥ u ¥ ¥ |u ¥ % ® (¥ H
B & | S ~ (%0 / ~ H¥d | % | / ~ u Y % | & & | S ~ / ~ 0| (&R —BWYw) (S ZFI()
w N7 SS) w N/ ¢ Bt & X \v = \E a.(ﬂ w \jr % w \Jr ¥ ¥ + W
\{/ i
B & + B H W | ¥ T ¥ W %z % X
% # B 4 Y (B&@) S S - 0 a H d [
a o o) a o d # -

B
(£) B & B & 2 F ® W K Y ™ ¥ N X R E YL ®M X H ¥ T




co@) 7% HIYH CR¥EZ(UO0T/NIN)RHELY HI ¢
ROy @ AL BHARNSEIHERE © X ¢
) B¥yeaw o U BYEe YRR EEmEEE 0 Wl (2¥)
. g 00+30 2 0°2 9 12 9 [z 9 68 9 €8 (10-909-68)
10-3L79 / ~ 81 0ol / ~ / ~ 6°L / ~ / ~ u 0B 0
0]00+30°0 91 0 80 0 80 0 1L 0 I8 A 1-1318 SRR
4 [0+3%°1 Sl 14 9°1 ¥ 91 12 s ¥ 28 (10-809-68)
[0+37 °1 / ~ Gl 00| / ~ / ~ 8L / ~ / ~ u 0| & ¥
0| 10+3€°1 Gl 0 §'1 0 §°1 I 69 0 08 F| ¥ S-1S BT ch B
(4 00+30 0 vl 4 Sl ¥ Sl ¥ 2’8 4 €8 (20-809-68)
00+30°0 / ~ Pl 00| / ~ / ~ L'L s ~ / ~ T 0 |k
0 | 00+30°0 vl 0 [ 0 ¢l 1 89 0 0°8 |V v-18 BT ch B R
g 00+30°0 gl 9 A 9 vl 9 26 9 2’8 (¥0-£09-6¢)
00+30°0 / ~ €'l 00| / ~ / ~ 6L / ~ / ~ u 01| ¢
0100+30°0 2’1 0 01 0 0°1 % 6°9 0 6L E- 2 €-18 B h B
g 00+30 2 ¥l 9 Ll 9 L1 9 88 9 €8 (50-€09-68)
10-4L°9 / ~ vl 00} / ~ / ~ 8L / ~ / ~ u 0|\ !
0 | 00+30°0 gl 0 60 0 6°0 [4 L9 0 08 |V 2-18 B R BEE
g 00+35 ¥ Sl 9 91 9 91 9 6°8 9 '8 (£0-809-68)
00+38 2 / ~ Sl 00| / ~ / ~ 6°L / ~ / ~ u 0l ¥ .
0| 00+30°2 §°1 0 g1 0 gl ! 0°L 0 08 # |V I1-1318 BT ch Bl
g1l v L1 14 L1 i4 6 i4 28 (¥0-609-68)
gl 00| / ~ / ~ 0°8 / ~ / ~ u 0| ¥
gl 0 60 0 6°0 ! 0°L 0 2’8 ¥ ¥-18 PR
7l 4 vl 4 vl (4 8L 4 28 (75-609-62)
€'l 00| / ~ / ~ 8L / ~ -/ ~ LA RN TR .
€'l 0 [ 0 g1 0 L' 0 2’8 |V 8-1§ BB
€'l i4 0°¢ ¥ 02 ¥ €8 |7 38 | (80-609-68)
gl 00| / ~ / ~ L'L / ~ / ~ u 0| ¥
vl 0 80 0 80 I vl 0 08 E- A . &-1S8 W
8l 4 81 4 81 4 L8 4 28 (95-609-6€)
81 00| / ~ / ~ 08 / ~ / ~ u o} !
8l 0 8l 0 81 1 gL 0 08 E- 2N 6—-LS oscd g
gl ¥ 61 ¥ 6°1 [4 0°8 ¥ 2’8 (20-609-6¢)
§'1 00| / ~ / ~ LL / ~ i/ ~ o 0lE| ¥
¥l 0 80 0 80 1 ¥l 0 1'8 |V 2-18 BrEl
L'l ¥ 81 ¥ 81 ¥ 0°6 14 €8 (10-609-6¢)
91 0o / ~ / ~ €8 / ~ |/ ~ uoooE| s
91 0 §°1 0 Sl 0 9°L 0 6L EANR I-13S EHMEH
gl 4 vl [4 7l i4 06 |¥ £'8 (50-809-68)
gl 00| ~ / ~ 6L / ~ / ~ o ol ¥
gl 0 'l 0 Il [ VL 0 ['8 E- A T G-1S | WEHYMBTh
u ¥ ¥ | & & | U ¥ B | B%S £ ¥ ¥ u ¥ & |U ¥ ¥ # |4 |H :
B A& | S ~ (0 / ~ Bt | % | ~ u Y ¥ | & & |/ ~ / ~ 0| (&2-BY9 | EZWE
w NI S S) w \Jr X Bt A X NS \E %)«m w \Jr B u NS N | W
\|/ -y
B & & B H i g Z ¥ W Z W X
¥ # B @ ¥ (EEH) S S o da H d [
(a o a o € ¥ O =

‘ L%
(£ ) B & % @& & F ®x OB WK ¥ ™ ¥y M E X W® X H W T




| co@a T BTYW ‘R EZ (U0 /NIN) RREEY Hd g
WEE @ A WHALNSEImERE © X 7
RHE® | U RYRO YRR DTSR 0 W 1 (£¥)
L1 4 Ll 14 L1 14 18 14 2’8 (80-L09-6¢€)
Lt lool | = / ~ sy |/ ~ / ~ v olm|»
G'1 0 01 0 0°1 4 04 0 ¢’8 2R 7 -18 k=14
S'1 4 Sl 4 | 14 18 14 38 (20-L.09-68)
21 oot / ~ / ~ 9°L / ~ / ~ o oy ¥
21 0 6°0 0 6°0 1 | A 0 '8 E AN €-18 k3244
00+30 0 6°1 9 0°2 9 0°¢ 9 9°8 9 28 (10-,09-6¢)
00+30 °0 ~ L1 0oy / ~ / ~ 9°L 7/ ~ / ~ u 0| ¥
0]00+30°0 91 [1} L0 0 L0 g L9 0 1°8 |V 2-18S 28
072 4 0°¢ 4 0°2 . 4 g8 4 2’8 (25-109-68)
0% 00| ~ / ~ 6L / ~ / ~ o 0B b
02 0 671 0 6°1 1 gL 0 18 A 01-18 SEE
4 50> G'3 4 §¢ 4 S 4 9°L K4 g8 (¥5-909-6€)
/ ~ 12 00| / ~ / ~ 9°L / ~ / -~ o 0|@®| 0
0 S0 172 0 9°1 0 91 0 S°L 0 '8 | 4 8-18 BERSEE
81 2 81 14 81 12 2L 2 3’8 (85-909-68)
91 |00l ~ / ~ L | s~ / ~ Ju o|m|a
9°1 0 el 0 g1 0 3L 0 1°8 F| 4 L-18S GG
6°1 4 6°1 2 6°1 i 4 9°L 2 3’8 (25-909-68)
91 | 00| ~ ~ / ~ 9L |/ ~ / ~ v o|lm| o
971 0 g1 0 g1 0 S°L 0 18 EZIR: 9-18S HE G TE
¥ ¥ | & « |u | ¥ % | 9% A | ¥y = . u |y % lu | ¥ x| # (¢l
& & | 7T ko s~ B¥k | % | S ~lu | x| & & |/ ~ / ~ B (52-BYm | (BT
wl oo ss)| Tw| v om | & & ol N 7 e w) v # | w|vow | ¥ W@
- \/ N
B & x [ H u | E v oy ™ T oW X
w2 B 9 Y (BEHW) S S 0o a H d i
a o ) da o ¢ p3 B
o
A

(

L)

B B % & 2 F

® % WK Y W

¥ oY O H X ® X H ¥

\7



